3AMEEGEMDEENRUTIE (154H) T=PCO

=] 17 (A) 18 (A) 19 (K) 20 (%) 21 (K) 22 (&) 23 (1)
B SRR - - - - - - —

B EEAsT (m2) - — _ _ _ — —
RS (LU/m2 - @) - — _ _ _ — —
EHEYR NEZYDHEME| 1.336-04  (]RK) | 1.31E-04 (§&K) |1.056-04 (§&XK) | 1.046-04 (FK) |1.036-04 (FK) |1.198-04 (&F&K) |6.276-05 (F]&XK)

28 (Ba/cm3) ** ND (&N ND (&N ND (&N ND (&N ND (&N ND (&N ND (&N
=| bZN(=)) 25 (A) 26 (K) 27 (K) 28 (K) 29 (&) 30 (%)
BT SAEE - - - - _ _ _

BmEESET (Mm2) - - _ _ _ _ —
TEmEE (L/m2 - @) - — — _ _ _ _
EHEYR NEZSOFENE| 1.336-04  (]RK) | 9.30E-05 (F]RK) | 1.14E-04 (F]K) | 1.228-04 (F|K) |1.36E-04 (&F&AK) |1.266-04 (FK) |1.01E-04 (FK)

(Bq/cm3) ** ND (&N ND (&N ND (&N ND (&N ND (&N ND (&N ND (&N
B 31 (H) 1 (A) 2 (K) 3 (K) 4 (K) 5 (&) 6 (%) "Q -Q
BRI SRAESE - - - - - - - T ,u |
B EEAsT (m2) - - - (TEHRBIIISENE) (TEERBIIISENE) - - V
PigEHE (L/m2 - [E) - - - (TEHRBIIISENE) (TEERBIIISENE) - -
YR NEZSDsHANE| 8.826-05  (FRK) | 8.97E-05 (§RA) | 1.00E-04 (F]RK) |6.186-05 (F|K) |4.14E-05 (§]|K) |4.37E-05 (§]AK) |4.976-05 (F]|XK) L
(Ba/cm3) ** ND (&N ND (&N ND (&N ND (&N ND (&N ND (&N ND (&N 38 4H
B 7 (A) 8 (R) 9 (N) 10 (%) 11 (K) 12 (&) 13 (%)
BT SRAEE - - - - - - -

BmEESET (Mm2) - - _ _ _ _ —
TEmEE (L/m2 - @) - — — _ _ _ _
YR NEZSDFENE| 4.44E-05 (RK) | 1.03E-04 (&K) |6.1768-05 (&K) |5.508-05 (&|AK) |5.14E-05 (&&AK) |5.356-05 (FK) |4.366-05 (&F&K)

8A (Bq/cm3) ** ND (&N ND (&N ND (&N ND (&N ND (&N ND (&N ND (&N
=] 14 (H) 15 (A) 16 (N) 17 (k) 18 (K) 19 (&) 20 (%)
Em el - - - - - - -

ETREREAET (m2) - - — _ _ _ _
SEYEmE (L/m2 - [E) - - - — —_ _ _
@S X NEZSDsHENE | 4.66E-05  (FRK) | 5.73E-05 (E2K) | 4.83E-05 (§K) |4.66E-05 (F]|;K) |4.21E-05 (FKA) |6.156-05 (§K) |7.88E-05 (§]K)

(Bq/cm3) *! ND (&N | ND (&I | ND (&M | ND (&I | ND O E&IN | ND (&M | ND (&N
B 21 (A) 22 (A) 23 (X) 24 (k) 25 (K) 26 (&) 27 (1)
e - - - - - - -

WAEEmAs (m2) - - _ _ Z - -
FIEAR (L/m2 - @) - - _ - - - -

WY R NEZYDETANE| 8.50E-05  (BRK) | 8.80E-05 (§xK) |6.656-05 (§K) - (&X) - (&X) - (&X) - (&X)
(Ba/cm3) ** ND (&/N) ND (&/N) ND (&) - (&) - (&N - (&/1V) - (&Y

X1 RELOEHRSY X NEZSFHEMELRRME. ND=F1&H 202248 H25H M= 3



